O TARGET

| MODEL : BASE KIT FDR2 BED J

DOUBLE/QUEEN/KING/SUPER KING

PART LIST |
/ ,
‘ |
| A- HEADBOARD PANEL X 1PCSW |B- FOOTBOARD DRAWER X 1PCS | | C- SIDE RAIL RIGHT & LEFT X 2pCS|

T~

,D- CENTER RAIL X 1PCS‘ ‘E- SUPPORT CENTER RAIL X 1PCS' F- HARD SLAT X 9PCS - QUEEN, KING, ‘
SUPER KING
HARD SLAT X 8PCS - DOUBLE ‘

((((W(M((lf(ﬁ(@ ((Z((((([H(Uﬁ(ﬁﬁi(((ﬁﬂﬂ @

(Pre-Assembled)

|G- M8 X 25m X 12PCS | |H- M8 X 45m X 1PCS | |I- NYLON NUT M8 X 1PCS|
4@@@5@1@@@%@ - m %
|J- STAR BOLT X 4PCS| K- ALLEN KEY M8 X 1PCS | |L- PLASTIC LEG X 8PCS)

DS230 (V.1) 1/3




1-ATTACHING PLASTIC LEG TO THE HEADBOARD PANEL AND FOOTBOARD DRAWER'}

CAREFULLY UNPACK ALL ITEMS FROM THE CARTONS.
Insert plastic leg (L) to the headboard panel(A) and footboard drawer(B)

2-ATTACHING SIDE RAIL TO HEADBOARD PANEL & FOOTBOARD DRAWEM

Loosen the bolts on Headboard (A) and Footboard Drawer(B) using the M8 Allen Key(K) provided.
Attach Side Rail (C) to Headboard(A) and Footboard Drawer(B) by pushing the bracket down.
Then tighten them.

3-ATTACHING CENTER SUPPORT LEG TO CENTER RAIN

Attach Center Support Leg(E) to Center Rail(D) using screw (H)M8 X 45 and Nylon Nut M8(]).
Then tighten them. T

I. NYLON NUT M8 X 1

&

H. M8 X 45mm X 1

DS230 (V.1) 2/3 Adjustable




4-ATTACHING CENTER RAIL TO HEADBOARD PANEL & FOOTBOARD DRAWIﬂ

Dismantile the prefix screw(G). Attach Center Rail(D) to Headboard(A) and Footboard Drawer(B) by
using screw(G) in clockwise direction and fully tighten.

G. M8 X 25mm X 4

(Pre-Assembled)

5-INSERT HARD SLAT IN THE BASE

Secure slats (F.) to Side Rail (C.) using the velcro hook and loops system. Start from the Footboard
Drawer (B.) moving towards Headboard (A.)

DS230 (V.1) 3/3




